
INVENTORY Stock DONNELLY BROS INC
864.984.4400

Trade# part# job #

10/28/2015

93

AJ3V750 30605 SC 18349 3/4" AUTOJECTOR VALVE 3PC 9V

ARSC30MM9V 29460 SC 67397 30MM ARBURG NEW 18-1 SCREW CPM 9V HT 
22.68" OAL 3:1 CR

BAEC40MM 12105 SC 945 40MM BATTENFELD END CAP 95MM OD X 
50MM OAL 10H .750'' ID THRU HOLE 1 3/4 X 8  
R.H. ] $250

BO4V24MMH 25355 SC 15039 24MM BOY VALVE 4PC HA "4A" 
 
 
 
HERE IS PO 20365 TO FBL: 4PC STYLE 24MM 
BOY VALVE 4PC HA ''4A"  Old Style •OS• like 
BL-27834 •OS• for my stock

BO4V32MMH 19805 SC 20764 32MM BOY VALVE 4PC HA "B"

BO4V38MMH 22335 SC 25595 [1] 38MM BOY VALVE 4PC HA "B" 2.986'' OAL

BO4V48MMH 25085 SC 25594 48MM BOY VALVE 4PC HA "B"

BOEC38MM 29365 SC 60081-02 38MM BOY END CAP H13 NITRIDE 3.740'' OD X 
2.675'' OAL 10H M35x1.5 Nz Th 

BONZ28MM 28485 SC 0704-74 [2] 28MM BOY NOZZLE  M24MMX1.5  16MM 
4150 NITRIDE TC HOLE CENTER OF WRENCH 
FLAT .358" DEEP FOR 1/4" X 28 

BONZ38MM 31100 SC 12937-1 38MM BOY NOZZLE 4140 NITRIDE 5" OAL 
M35X1 TH .630'' R.O. 7/8"-14 TIP THREADS 
1/4"-28 TC HOLE  NBOY-5A TC-7936 

BONZ38MM 31100 SC 12937-2 38MM BOY NOZZLE 4140 NITRIDE 5" OAL 
M35X1 TH .630'' R.O. 7/8"-14 TIP THREADS 
1/4"-28 TC HOLE  NBOY-5A TC-7936 

BONZ38MM 31100 SC 12937-3 38MM BOY NOZZLE 4140 NITRIDE 5" OAL 
M35X1 TH .630'' R.O. 7/8"-14 TIP THREADS 
1/4"-28 TC HOLE  NBOY-5A TC-7936 

BOSC24MM9 31260 SC 20365-1 24MM BOY NEW SCREW CPM 9V 25.563" OAL 
3.0 Cr

BOSC28MMCR
U

31110 SC 19446 28MM BOY NEW SCREW CRUWEAR 25.400'' 
OAL 3.0 Cr 
SCREW HAS TIP ON IT  
28BY802D 
28BY802D

BOSC28MMLO
NGCRU3.0

31845 SC 19292 28MM BOY NEW SCREW CRUWEAR 31.535'' 
OAL 3.0 Cr



INVENTORY Stock DONNELLY BROS INC
864.984.4400

Trade# part# job #

10/28/2015

93

CI3V26MMH 14465 SC 191591 26MM CINCI VALVE 3 PC HA "B" .879'' Rear 
Seat

CI3V4500H-13 28165 SC 57153 fern 4 1/2" CINCI 3PC VALVE 45° [90° INCL ] NOSE 
H-13 HT NITRIDE COARSE THREAD 2.000/06

CI4V2000H-2 7565 SC 21912FS 2" CINCI FRONT SEAT  HA "B'

CI4V2500-1 20290 SC 21824 2 1/2" CINCI RETAINER 90° CT  "B"

CI4V3250H 4160 SC 22205 3 1/4" CINCI Retain only 90° CT 
 
HA "B" M4 RS VAL 

CI4V3500 5360 SC 20441 
fern

3 1/2" CINCI VALVE 90° CT 4PC HA "B"   
less fs 
6.18.15 
we put refurbished fs on it and looks / fits fine 
it has dull steel color

CI4V3500-3 29260 SC 20441-3 3 1/2" CINCI CHECK RING 30% RESTRICTED 
HA "B"

CI4V3500-3PP
R%

29260 SC 19925-3 3 1/2" CINCI CHECK RING 30% RESTRICTED 
HA "B" 
6.18.15 
id lger than other 4pc valve assemby in one 
we looked at

CI4V3500-4 15335 SC 21459-4 
fern

3 1/2" CINCI REAR SEAT M4

CI4V3500H-1 29075 SC 20334-1 
fern

3 1/2" CINCI RETAINER 90° CT REPAIR

CI4V3500H-2 29080 SC 20334-2 
fern

3 1/2" CINCI FRONT SEAT REPAIR 
 
6.18.15 
fit 4pc assbmy fineCI4V80MMH 23100 SC STK 80MM CINCI VISTA VALVE 4PC HA "B"

CIEC55MM? 0 SC 0 CORE 55MM CINCI End Cap SAMPLE 
 
 
 
 
per wire note on it 
81210 Changed fm T oyo;

CISC22MM 32945 SC 10897screws 22MM CINCI ROBOSHOT NEW SCREW CPM-9V 
22.697'' OAL 3.0 Cr 
- 
- 
one valve is on a screw 19757 
--- 1-27-11 thats old sold;;

CISC2500NSC 27645 SC 16971 garl 2 1/2" CINCI NEW SCREW STELLITE CHROME 
63.06" OAL 3.0 Cr



INVENTORY Stock DONNELLY BROS INC
864.984.4400

Trade# part# job #

10/28/2015

93

DA1V2000 31300 SC 22464 [4] 2" DAVIS 1.680'' OD 90° EXTRUDER SCREW 
TIP

EN40MM777-9
62MM

32140 SC 51262 OH 40MM ENGEL NEW BARREL 777 962MM 
CARBIDE BIMETALLIC 37.874''

EN4V40MMH 14755 SC 26351 40MM ENGEL VALVE 4PC HA ''4A'' 
8/15/08 
THREAD IS M16X2 PER MIKE; 
- 
INV SAYS THREADS ARE M18X2.5LH 
 
ITT

EN4V45M 
B1680

1 SC 26404 45MM ENGEL 4PC VALVE HA ''4A'' REF B-1680 
 
ITT 
 
MADE BY BL

EN4V55MM-2H
A

22915 SC 22588 SCBX 55MM ENGEL FRONT SEAT HA "B"

EN4V60MMH 32590 SC 23266 SCBX 60MM ENGEL VALVE 4PC HA "B"

FAEC2800 23040 SC 22454 2.8 FARRELL END CAP 4150 CHROME 7" OD 4 
3/16" OAL 
 
 
 
... AND DENTED CRITICAL FACE. U CAN SEE A 
CUT IN THE BROWN OIL PAPER. I DONT KNOW 
IF U KNOW, BUT PACKAGE NEED TO TAKE AN 
8' DROP. PLS REPAIR AT NO CHARGE & 
REFUND MY UPS INBOUND COSTS TOO. BILLY 
8/29/03  
3.31.04 
found 11.7.03 note to bl to remove stock so cb 
pilot is .270'' or greater

HP3V3500 28930 SC 21110-1 3 1/2" HPM 3PC LONG VALVE  (& 30% 
RESTRICT FLOW CR ID/TRAVEL H13/HT/NIT) 
FOR 86.015" SCREW

HP3V3500 28930 SC 22095 3 1/2" HPM 3PC LONG VALVE  (& 30% 
RESTRICT FLOW CR ID/TRAVEL H13/HT/NIT) 
FOR 86.015" SCREW

HP3V3500 28930 SC 22095a 3 1/2" HPM 3PC LONG VALVE  (& 30% 
RESTRICT FLOW CR ID/TRAVEL H13/HT/NIT) 
FOR 86.015" SCREW 
 
√10/03

HP3V3500-3LO
NG

31010 SC 0 3 1/2" HPM Rear Seat .983" oal x 3.121" OD  ?
Long 1.874'' id [3pc]

JS84MM 32365 SC 7702 @oh 84MM JSW BARREL CORE 9.764" OD 75.591" 
OAL

NA120MM 1 SC BDMN-OH 120MM NATCO BARREL 1200 TON RESLEEVED 
80'' TO FEED PORT STD BIMETALLIC - 
LIGHTLY USED

NASC120MM 1 SC BDMN-OH 120MM NATCO 20-1 SCREW REBUILD COL56 
CHROME - LIGHTLY USED - PLUS 3 PC SCREW 
TIP [VALVE]

NE1750MM10V
FP

27840 SC 7980-2 1 3/4" NEWBURY BARREL RESLEEVE 27" TO 
FEED PORT CPM-10V 35.312" OAL



INVENTORY Stock DONNELLY BROS INC
864.984.4400

Trade# part# job #

10/28/2015

93

NESC1250-9V 32025 SC 7980-1 1 1/4" NEWBURY REBUILT SCREW CPM-9V 21 
3/4" OAL

NESC1500 21565 SC 7980 JAD [2] 1 1/2" NEWBURY REBUILT SCREW CPM-9V 
28.700" OAL

NISC26MM 
NEX

33215 SC 59245925 26MM NISSEI SCREW 9V 28.130'' OAL

NISC36MM12E
-9V

33960 SC 5.20.13 36MM NISSEI NEW SCREW 9V 37.879'' OAL 
962MM 3.0 Cr 

NT4V45MMH 20900 SC 20149 45MM NIIGATA 70° VALVE 4PC HA "B" 110 
TON

NTSC45MMNC
RU

28825 SC 45NA802C 45MM NIIGATA NEW SCREW CRUWEAR 
41.406" OAL 2.3CR 18-1

RP3V1625 24460 SC RD199463 1 5/8" REED TG 5 1/2 oz stud only LAWSON 
VALVE [3PC] RB199460C

RP3V4500TD-
LAWSON

26940 SC 16631 4 1/2" REED TD LAWSON PIN RB157171J

RP4V1625 27095 SC 91290 1 5/8" REED 120° TE RETAINER 
 
 
 
 
 
 
 [Dragon]

rpsc2000td-u 0 SC - used 2" REED TD used SCREW 40 3/8" OAL 1.992'' 
OD

RPSC2000TGN
SC

18785 SC 17395 2" REED TG 10.5oz NEW SCREW STEL CHR 48 
1/2" RE199242F

RPSC3000TDN
SC

22245 SC 15038 FS 3" REED TD NEW SCREW STELL CHROM 59 
3/4" OAL RH129580 M

RPSC3750TG1
6-1

32845 SC 19580 FS sc 3 3/4" REED TG 16-1 NEW SCREW N135M 
COL56 NITRIDE 86'' OAL 3.0" CR RH199642D

SA4V90MMCA
R

17170 SC 20051 90MM SANDRETTO VALVE 4PC CARBIDE "B"  

TO3V55MM 29760 SC 75532 55MM TOSHIBA 3PC VALVE ISG  6.483" OAL 
[6.84] 
OEM STYLE 
HT/NITRIDE 
B-2672-B



INVENTORY Stock DONNELLY BROS INC
864.984.4400

Trade# part# job #

10/28/2015

93

TO45MM5BISE 1 SC 19131 OH 45MM TOSHIBA 5B ISE Barrel LOOKS NEW 
4.330'' OD  46 1/2'' OAL ROUND PORT •••SN 
4367-02 • 
 
Reline Job: 7508

TO4V105MM-4 29555 SC rs105to SC  
 
 
 
 
105MM TOSHIBA REAR SEAT

TO4V105MM-4 29555 SC 28845 105MM TOSHIBA REAR SEAT

TO4V105MMR 29830 SC 28845CR 105MM TOSHIBA CARBIDE FACED CHECK 
RING + CARB OD NS 
 
 
 
••••• flat faced encapsulated in carbide. 
••••••• W?

TO4V40MMISE
-4

30130 SC 25691 40MM TOSHIBA REAR SEAT HA •ISE• M4 
 
 
 
itt

TO4V50MM 1 SC 26282 TO4V50MM ISF/G CR + RS  O/S                     
THIS IS OLD STYLE 
1.557" APROX (i didnt remove from the plastic 
bag) 
 
itt

TO4V50MMISE 14900 SC 20432 50MM TOSHIBA ISE retainer only 4PC 
 
HA "B" 60° M28X2.0-LH 1.748" 1.102" REF:
2223-552-045 
 
itt

TO4V50MMISF-
1

28045 SC 22747 [2] 50MM TOSHIBA ISF/G RETAINER 60° 
 
itt

TO4V50MMISF-
1

28045 SC 22597 50MM TOSHIBA ISF/G RETAINER 60° 
 
itt

TO4V50MMISF-
2

28220 SC 22747 50MM TOSHIBA ISF/G FRONT SEAT HA ''B'' 
•OS• 
 
ittTO4V50MMISF/

G-3
33130 SC 19721 50MM TOSHIBA ISF/G CHECK RING HA FLAT 

NS 
 
 
itt

TO4V50MMISF/
G-4

33120 SC 19721 50MM TOSHIBA ISF/G REAR SEAT 1.611'' OAL 
NS 
 
ittTO4V55MM 30000 SC 21083 55MM TOSHIBA VALVE ISG 4PC HA

TO4V70MM-4 30055 SC 21074 70MM TOSHIBA REAR SEAT 2.484 DIA actual 
-  
2.488 IS ISE

TO4V70MMISG
OEM ENV

30060 SC 25306 SC BX  [2]  70MM TOSHIBA ISG VALVE 4PC HA 60° 
M36X3.0-LH 2.346 1.455 9.036'' OAL 
••••••THIS IS HELD FOR •• AIM ••



INVENTORY Stock DONNELLY BROS INC
864.984.4400

Trade# part# job #

10/28/2015

93

TO4V90MM 27835 SC @oh 24513 used retainer only • 90MM TOSHIBA [  ISF/
ISG ?] VALVE 4PC HA 60° M45X4.0-LH 3.093'' 
1.812'' 
 
• SHERRI IS THIS A ISF OR ISG? DO U KNOW? 
BILLY 

TO4V90MM 27835 SC 24513 90MM TOSHIBA ISF/ISG repaired Retainer  
 
From:  
VALVE 4PC HA 60° M45X4.0-LH 3.093'' 1.812''TOEC40MMISF/

G H13N
32640 SC 4639 [2] 40MM TOSHIBA ISF 5A END CAP 60° H-13/

HT/NITRIDE 1.750/08 
 
ITTTOEC45MM5B 27185 SC 23554 5B 45MM TOSHIBA END CAP 60° 4140 NITRIDE 
1 1/2"-12 2.165" OD for CB X 4.42'' OAL  
[[10mm thru hole (.394")]] 
 
ITT 
RETURNED 2/11/15 
- SHIPPED: CLAUDE S. @ ITT DID NOT RETURN 
IT; WPD 12/10/14; 
-

TOEC45MM5B 27185 SC 23555 5B 45MM TOSHIBA END CAP 60° 4140 NITRIDE 
1 1/2"-12 2.165" CB X 4.42'' OAL  [[10mm thru 
hole (.394")]] 
 
ITT

TOSC105MM59
BCARB

28360 SC SE b19469 105MM TOSHIBA NEW SCREW 4140 CARBIDE 
ENCAPSULATED DF PARALLEL 105.06O" OAL 
[S.E.NW] 1-27-11

TOSC105MM59
BCARB

28360 SC FS 19235 105MM TOSHIBA NEW SCREW 4140 CARBIDE 
ENCAPSULATED DF PARALLEL 105.06O" OAL

TY4V20MMH 25170 SC 14658 20MM TOYO VALVE 4PC HA "B"

TY4V28MMH 24110 SC 17329 28MM TOYO VALVE 4PC HA "B"

TY4V40MMH 21545 SC 22069 40.03MM TOYO VALVE 4PC HA "B" SS 
RETAINER

TY4V46MMH 24560 SC 24627 SC BX 46.05MM TOYO VALVE 4PC HA "B" w/ss 
RETAINER

TY4V60MMH 24550 SC 17332 60.05MM TOYO VALVE 4PC HA "B"

VD3V50MM 29700 SC 68125 50MM VAN DORN RETAINER FOR 3PC VALVE

VD4V35MMH 6105 SC 22210 35MM VAN DORN 2r,2fs 4PC HA "B" os 
 
ITT

VD4V35MMH 6105 SC 22599 SCBX 35MM VAN DORN  1r,1fs, 1cr VALVE 4PC HA os 
 
ITT



INVENTORY Stock DONNELLY BROS INC
864.984.4400

Trade# part# job #

10/28/2015

93

VD4V75MMH 18125 SC 20847 75MM VAN DORN VALVE 4PC HA "B"  
 
 

VD50MM 
DEMAG

1 SC 19792 19792 [2] 50MM VAN DORN DeMag Used 
Screws

VDEC35MM 10550 SC 19389 35MM VAN DORN END CAP NITRIDE 
 
ITT


